

STATEWIDE SW TIER 2 42716 X-A004(996)

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK:	STATEWIDE SW TIER 2 42716 X-A004(996) December 03, 2020, Resurfacing of NH 12A, NH 101, and NH 10	Awarded To: Amount:	ALL STATES CONSTRUCT INC PO BOX 91 SUNDERLAND, MA 01375 \$3,212,635.22		
COMPLETION DATE: LOCATION:	September 10, 2021 Cheshire, Sullivan, Hillsborough	Award Date:		Director of Project Development	
	Sumi	mary of Bidders			
Contractor				Bid Amount	Rank
ALL STATES CONSTR PO BOX 91, SUND				\$3,212,635.22	A
EUROVIA ATLANTIC (216 MOUNT HERM	COAST LLC ON STATION ROAD, NORTHFIELD MA 01360			\$3,341,922.77	В
PIKE INDUSTRIES, IN 3 EASTGATE PARI	C. K ROAD, BELMONT NH 03220			\$3,489,875.06	С



STATEWIDE SW TIER 2

X-A004(996)

				F	PS&E	PO	DNSTRUCTION INC BOX 91 IND, MA 01375	216 MOUNT HER	ANTIC COAST LLC MON STATION ROAD ELD, MA 01360
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

		1							
202.7	REMOVAL OF GUARDRAIL	LF	9,903.50	\$2.90	\$28,720.15	\$3.50	\$34,662.25	\$3.25	\$32,186.38
203.5561	EAGRT PLATFORM PREFERRED	U	59.00	\$1,300.00	\$76,700.00	\$1,050.00	\$61,950.00	\$650.00	\$38,350.00
203.5571	EAGRT PLATFORM PREFERRED, TL 2 - 25'	U	7.00	\$1,400.00	\$9,800.00	\$1,050.00	\$7,350.00	\$650.00	\$4,550.00
206.1	COMMON STRUCTURE EXCAVATION	СҮ	7.40	\$80.00	\$592.00	\$500.00	\$3,700.00	\$200.00	\$1,480.00
304.301	CRUSHED GRAVEL	CY	2.80	\$125.00	\$350.00	\$125.00	\$350.00	\$200.00	\$560.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,185.00	\$25.00	\$54,625.00	\$32.00	\$69,920.00	\$48.00	\$104,880.00
403.11043	HBP-1/2" WEARING, MM	TON	60.30	\$80.00	\$4,824.00	\$250.00	\$15,075.00	\$260.00	\$15,678.00
403.11051	HBP-3/8" WEARING, MM, QC/QA TIER 1	TON	6,443.00	\$90.00	\$579,870.00	\$75.00	\$483,225.00	\$75.00	\$483,225.00
403.11942	HBP-1/2" WEARING, MM, HIGH STRENGTH, QC/QA TIER 2	TON	1,223.50	\$90.00	\$110,115.00	\$85.00	\$103,997.50	\$90.00	\$110,115.00
403.11943	HBP-1/2" WEARING, MM, HIGH STRENGTH	TON	3,215.00	\$90.00	\$289,350.00	\$79.00	\$253,985.00	\$76.00	\$244,340.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	11.22	\$255.00	\$2,861.10	\$250.00	\$2,805.00	\$335.00	\$3,758.70
403.16	PAVEMENT JOINT ADHESIVE	LF	119,552.00	\$0.22	\$26,301.44	\$0.20	\$23,910.40	\$0.20	\$23,910.40
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	9,658.00	\$2.30	\$22,213.40	\$2.50	\$24,145.00	\$2.70	\$26,076.60
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	18,440.00	\$3.40	\$62,696.00	\$3.50	\$64,540.00	\$4.05	\$74,682.00
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	3,221.70	\$80.00	\$257,736.00	\$75.00	\$241,627.50	\$78.00	\$251,292.60
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	6,114.70	\$80.00	\$489,176.00	\$77.00	\$470,831.90	\$71.25	\$435,672.38
417.	COLD PLANING BITUMINOUS SURFACES	SY	20,357.00	\$2.50	\$50,892.50	\$5.00	\$101,785.00	\$4.35	\$88,552.95
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	8,748.00	\$3.25	\$28,431.00	\$5.00	\$43,740.00	\$3.00	\$26,244.00
417.430	MILLED RUMBLE STRIPS, TRANSVERSE	LF	346.50	\$10.00	\$3,465.00	\$15.00	\$5,197.50	\$22.00	\$7,623.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	102.00	\$105.00	\$10,710.00	\$99.73	\$10,172.46	\$110.00	\$11,220.00
604.0007	POLYETHYLENE LINER	EA	44.00	\$230.00	\$10,120.00	\$122.62	\$5,395.28	\$115.00	\$5,060.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	44.00	\$625.00	\$27,500.00	\$367.95	\$16,189.80	\$715.00	\$31,460.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	59.00	\$3,200.00	\$188,800.00	\$3,334.37	\$196,727.83	\$3,425.00	\$202,075.00



STATEWIDE SW TIER 2

42716

					PS&E	PO	ONSTRUCTION INC BOX 91 AND, MA 01375	216 MOUNT HER	ANTIC COAST LLC MON STATION ROAD ELD, MA 01360
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	7.00	\$1,400.00	\$9,800.00	\$2,842.08	\$19,894.56	\$3,000.00	\$21,000.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	6,375.00	\$24.00	\$153,000.00	\$22.33	\$142,353.75	\$24.75	\$157,781.25
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	5,133.50	\$10.00	\$51,335.00	\$6.85	\$35,164.48	\$7.35	\$37,731.23
608.1201	2" BITUMINOUS SIDEWALK	SY	5.30	\$125.00	\$662.50	\$283.00	\$1,499.90	\$700.00	\$3,710.00
608.2401	4" CONCRETE SIDEWALK	SY	39.10	\$82.00	\$3,206.20	\$101.50	\$3,968.65	\$220.00	\$8,602.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	6.55	\$425.00	\$2,783.75	\$507.51	\$3,324.19	\$185.00	\$1,211.75
609.5	RESET GRANITE CURB	LF	77.00	\$36.00	\$2,772.00	\$101.50	\$7,815.50	\$75.00	\$5,775.00
615.0201	TRAFFIC SIGN TYPE B	SF	142.33	\$72.00	\$10,247.76	\$71.05	\$10,112.55	\$70.00	\$9,963.10
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	117.91	\$149.00	\$17,568.59	\$167.48	\$19,747.57	\$165.00	\$19,455.15
615.023	REMOVING TRAFFIC SIGN TYPE B	U	4.00	\$165.00	\$660.00	\$126.88	\$507.52	\$125.00	\$500.00
615.0301	TRAFFIC SIGN TYPE C	SF	173.75	\$48.00	\$8,340.00	\$45.17	\$7,848.29	\$44.50	\$7,731.88
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	20.00	\$44.00	\$880.00	\$35.53	\$710.60	\$35.00	\$700.00
615.0601	TRAFFIC SIGN TYPE CC	SF	96.44	\$17.00	\$1,639.48	\$12.69	\$1,223.82	\$12.50	\$1,205.50
615.063	REMOVING TRAFFIC SIGN TYPE CC	U	1.00	\$36.00	\$36.00	\$15.23	\$15.23	\$15.00	\$15.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	6.00	\$1,100.00	\$6,600.00	\$974.43	\$5,846.58	\$1,050.00	\$6,300.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	44,000.00	\$1.00	\$44,000.00	\$1.00	\$44,000.00	\$1.00	\$44,000.00
618.7	FLAGGERS	HR	2,540.00	\$31.50	\$80,010.00	\$40.00	\$101,600.00	\$34.50	\$87,630.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$150,000.00	\$150,000.00	\$95,000.00	\$95,000.00	\$135,000.00	\$135,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,600.00	\$5,200.00	\$3,000.00	\$6,000.00	\$2,000.00	\$4,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	221.00	\$6.50	\$1,436.50	\$5.08	\$1,122.68	\$5.50	\$1,215.50
621.31	SINGLE DELINEATOR WITH POST	EA	1,677.00	\$35.50	\$59,533.50	\$48.72	\$81,703.44	\$52.00	\$87,204.00
628.1	SAWED CONCRETE PAVEMENT	LF	34.00	\$9.00	\$306.00	\$15.23	\$517.82	\$9.25	\$314.50
628.2	SAWED BITUMINOUS PAVEMENT	LF	155.00	\$2.50	\$387.50	\$10.15	\$1,573.25	\$1.85	\$286.75
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	300,355.00	\$0.22	\$66,078.10	\$0.15	\$45,053.25	\$0.15	\$45,053.25
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	2,997.00	\$1.25	\$3,746.25	\$1.22	\$3,656.34	\$1.00	\$2,997.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	199.00	\$6.50	\$1,293.50	\$5.25	\$1,044.75	\$7.00	\$1,393.00



STATEWIDE SW TIER 2

42716

					PS&E	PC	CONSTRUCTION INC 9 BOX 91 AND, MA 01375	216 MOUNT HER	LANTIC COAST LLC RMON STATION ROAD ELD, MA 01360
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	2,997.00	\$1.25	\$3,746.25	\$1.02	\$3,056.94	\$1.00	\$2,997.00
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	159.00	\$3.00	\$477.00	\$2.03	\$322.77	\$2.00	\$318.00
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	78.00	\$4.45	\$347.10	\$4.06	\$316.68	\$4.00	\$312.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	199.00	\$6.25	\$1,243.75	\$6.09	\$1,211.91	\$6.00	\$1,194.00
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	75.00	\$7.50	\$562.50	\$8.12	\$609.00	\$8.00	\$600.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	1,441.30	\$10.00	\$14,413.00	\$8.12	\$11,703.36	\$8.00	\$11,530.40
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,985.00	\$1.25	\$2,481.25	\$0.51	\$1,012.35	\$0.50	\$992.50
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	199.00	\$2.50	\$497.50	\$3.05	\$606.95	\$3.00	\$597.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	1,441.30	\$3.00	\$4,323.90	\$2.03	\$2,925.84	\$2.00	\$2,882.60
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	16,292.00	\$3.00	\$48,876.00	\$2.59	\$42,196.28	\$2.00	\$32,584.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	16,292.00	\$3.00	\$48,876.00	\$2.00	\$32,584.00	\$4.95	\$80,645.40
692.	MOBILIZATION	U	1.00	\$160,000.00	\$160,000.00	\$95,000.00	\$95,000.00	\$155,000.00	\$155,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	34,502.00	\$1.00	\$34,502.00	\$1.00	\$34,502.00	\$1.00	\$34,502.00
			Totals:		\$3,441,717.47		\$3,212,635.22		\$3,341,922.7
			Alt. Totals:						
			Totals:		\$3,441,717.47		\$3,212,635.22		\$3,341,922.7



STATEWIDE SW TIER 2

X-A004(996)

					F	PS&E	3 EASTGAT	JSTRIES, INC. E PARK ROAD IT, NH 03220		
Item N	lo.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202.7	REMOVAL OF GUARDRAIL	LF	9.903.50	\$2.90	\$28,720.15	\$2.00	\$19.807.00	
-			.,				, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
203.5561	EAGRT PLATFORM PREFERRED	U	59.00	\$1,300.00	\$76,700.00	\$1,250.00	\$73,750.00	
203.5571	EAGRT PLATFORM PREFERRED, TL 2 - 25'	U	7.00	\$1,400.00	\$9,800.00	\$1,600.00	\$11,200.00	
206.1	COMMON STRUCTURE EXCAVATION	CY	7.40	\$80.00	\$592.00	\$500.00	\$3,700.00	
304.301	CRUSHED GRAVEL	CY	2.80	\$125.00	\$350.00	\$350.00	\$980.00	
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,185.00	\$25.00	\$54,625.00	\$33.00	\$72,105.00	
403.11043	HBP-1/2" WEARING, MM	TON	60.30	\$80.00	\$4,824.00	\$225.00	\$13,567.50	
403.11051	HBP-3/8" WEARING, MM, QC/QA TIER 1	TON	6,443.00	\$90.00	\$579,870.00	\$82.00	\$528,326.00	
403.11942	HBP-1/2" WEARING, MM, HIGH STRENGTH, QC/QA TIER 2	TON	1,223.50	\$90.00	\$110,115.00	\$90.00	\$110,115.00	
403.11943	HBP-1/2" WEARING, MM, HIGH STRENGTH	TON	3,215.00	\$90.00	\$289,350.00	\$85.00	\$273,275.00	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	11.22	\$255.00	\$2,861.10	\$225.00	\$2,524.50	
403.16	PAVEMENT JOINT ADHESIVE	LF	119,552.00	\$0.22	\$26,301.44	\$0.28	\$33,474.56	
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	9,658.00	\$2.30	\$22,213.40	\$2.25	\$21,730.50	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	18,440.00	\$3.40	\$62,696.00	\$3.50	\$64,540.00	
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	3,221.70	\$80.00	\$257,736.00	\$85.00	\$273,844.50	
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	6,114.70	\$80.00	\$489,176.00	\$79.00	\$483,061.30	
417.	COLD PLANING BITUMINOUS SURFACES	SY	20,357.00	\$2.50	\$50,892.50	\$4.50	\$91,606.50	
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	8,748.00	\$3.25	\$28,431.00	\$2.50	\$21,870.00	
417.430	MILLED RUMBLE STRIPS, TRANSVERSE	LF	346.50	\$10.00	\$3,465.00	\$16.00	\$5,544.00	
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	102.00	\$105.00	\$10,710.00	\$98.25	\$10,021.50	
604.0007	POLYETHYLENE LINER	EA	44.00	\$230.00	\$10,120.00	\$120.00	\$5,280.00	
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	44.00	\$625.00	\$27,500.00	\$550.00	\$24,200.00	
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	59.00	\$3,200.00	\$188,800.00	\$3,285.00	\$193,815.00	



STATEWIDE SW TIER 2

42716

					PS&E	3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	7.00	\$1,400.00	\$9,800.00	\$2,800.00	\$19,600.00		
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	6,375.00	\$24.00	\$153,000.00	\$22.00	\$140,250.00		
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	5,133.50	\$10.00	\$51,335.00	\$6.75	\$34,651.13		
608.1201	2" BITUMINOUS SIDEWALK	SY	5.30	\$125.00	\$662.50	\$137.95	\$731.14		
608.2401	4" CONCRETE SIDEWALK	SY	39.10	\$82.00	\$3,206.20	\$100.00	\$3,910.00		
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	6.55	\$425.00	\$2,783.75	\$500.00	\$3,275.00		
609.5	RESET GRANITE CURB	LF	77.00	\$36.00	\$2,772.00	\$100.00	\$7,700.00		
615.0201	TRAFFIC SIGN TYPE B	SF	142.33	\$72.00	\$10,247.76	\$70.00	\$9,963.10		
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	117.91	\$149.00	\$17,568.59	\$165.00	\$19,455.15		
615.023	REMOVING TRAFFIC SIGN TYPE B	U	4.00	\$165.00	\$660.00	\$125.00	\$500.00		
615.0301	TRAFFIC SIGN TYPE C	SF	173.75	\$48.00	\$8,340.00	\$44.50	\$7,731.88		
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	20.00	\$44.00	\$880.00	\$35.00	\$700.00		
615.0601	TRAFFIC SIGN TYPE CC	SF	96.44	\$17.00	\$1,639.48	\$12.50	\$1,205.50		
615.063	REMOVING TRAFFIC SIGN TYPE CC	U	1.00	\$36.00	\$36.00	\$15.00	\$15.00		
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	6.00	\$1,100.00	\$6,600.00	\$1,500.00	\$9,000.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	44,000.00	\$1.00	\$44,000.00	\$1.00	\$44,000.00		
618.7	FLAGGERS	HR	2,540.00	\$31.50	\$80,010.00	\$42.00	\$106,680.00		
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$150,000.00	\$150,000.00	\$200,000.00	\$200,000.00		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,600.00	\$5,200.00	\$3,250.00	\$6,500.00		
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	221.00	\$6.50	\$1,436.50	\$5.00	\$1,105.00		
621.31	SINGLE DELINEATOR WITH POST	EA	1,677.00	\$35.50	\$59,533.50	\$35.75	\$59,952.75		
628.1	SAWED CONCRETE PAVEMENT	LF	34.00	\$9.00	\$306.00	\$15.00	\$510.00		
628.2	SAWED BITUMINOUS PAVEMENT	LF	155.00	\$2.50	\$387.50	\$10.00	\$1,550.00		
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	300,355.00	\$0.22	\$66,078.10	\$0.15	\$45,053.25		
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	2,997.00	\$1.25	\$3,746.25	\$0.80	\$2,397.60		
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	199.00	\$6.50	\$1,293.50	\$3.00	\$597.00		



STATEWIDE SW TIER 2

42716

					PS&E	3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	2,997.00	\$1.25	\$3,746.25	\$1.00	\$2,997.00		
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	159.00	\$3.00	\$477.00	\$2.00	\$318.00		
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	78.00	\$4.45	\$347.10	\$4.00	\$312.00		
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	199.00	\$6.25	\$1,243.75	\$6.00	\$1,194.00		
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	75.00	\$7.50	\$562.50	\$8.00	\$600.00		
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	1,441.30	\$10.00	\$14,413.00	\$8.00	\$11,530.40		
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,985.00	\$1.25	\$2,481.25	\$0.50	\$992.50		
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	199.00	\$2.50	\$497.50	\$3.00	\$597.00		
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	1,441.30	\$3.00	\$4,323.90	\$2.00	\$2,882.60		
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	16,292.00	\$3.00	\$48,876.00	\$1.10	\$17,921.20		
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	16,292.00	\$3.00	\$48,876.00	\$2.25	\$36,657.00		
692.	MOBILIZATION	U	1.00	\$160,000.00	\$160,000.00	\$210,000.00	\$210,000.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00		
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00		
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00		
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00		
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	34,502.00	\$1.00	\$34,502.00	\$1.00	\$34,502.00		
			Totals:		\$3,441,717.47		\$3,489,875.06		
	Alt. Totals:								
			Totals:		\$3,441,717.47		\$3,489,875.06		



42716

	-			A-Bide	der	PS8	έE	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.7	REMOVAL OF GUARDRAIL	LF	9,903.50	\$3.50	\$34,662.25	\$2.90	\$28,720.15	\$5,942.10
203.5561	EAGRT PLATFORM PREFERRED	U	59.00	\$1,050.00	\$61,950.00	\$1,300.00	\$76,700.00	(\$14,750.00)
203.5571	EAGRT PLATFORM PREFERRED, TL 2 - 25'	U	7.00	\$1,050.00	\$7,350.00	\$1,400.00	\$9,800.00	(\$2,450.00)
206.1	COMMON STRUCTURE EXCAVATION	СҮ	7.40	\$500.00	\$3,700.00	\$80.00	\$592.00	\$3,108.00
304.301	CRUSHED GRAVEL	CY	2.80	\$125.00	\$350.00	\$125.00	\$350.00	\$0.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,185.00	\$32.00	\$69,920.00	\$25.00	\$54,625.00	\$15,295.00
403.11043	HBP-1/2" WEARING, MM	TON	60.30	\$250.00	\$15,075.00	\$80.00	\$4,824.00	\$10,251.00
403.11051	HBP-3/8" WEARING, MM, QC/QA TIER 1	TON	6,443.00	\$75.00	\$483,225.00	\$90.00	\$579,870.00	(\$96,645.00)
403.11942	HBP-1/2" WEARING, MM, HIGH STRENGTH, QC/QA TIER 2	TON	1,223.50	\$85.00	\$103,997.50	\$90.00	\$110,115.00	(\$6,117.50)
403.11943	HBP-1/2" WEARING, MM, HIGH STRENGTH	TON	3,215.00	\$79.00	\$253,985.00	\$90.00	\$289,350.00	(\$35,365.00)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	11.22	\$250.00	\$2,805.00	\$255.00	\$2,861.10	(\$56.10)
403.16	PAVEMENT JOINT ADHESIVE	LF	119,552.00	\$0.20	\$23,910.40	\$0.22	\$26,301.44	(\$2,391.04)
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	9,658.00	\$2.50	\$24,145.00	\$2.30	\$22,213.40	\$1,931.60
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	18,440.00	\$3.50	\$64,540.00	\$3.40	\$62,696.00	\$1,844.00



42716

				A-Bid	der	PS8	ξE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	3,221.70	\$75.00	\$241,627.50	\$80.00	\$257,736.00	(\$16,108.50)
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	6,114.70	\$77.00	\$470,831.90	\$80.00	\$489,176.00	(\$18,344.10)
417.	COLD PLANING BITUMINOUS SURFACES	SY	20,357.00	\$5.00	\$101,785.00	\$2.50	\$50,892.50	\$50,892.50
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	8,748.00	\$5.00	\$43,740.00	\$3.25	\$28,431.00	\$15,309.00
417.430	MILLED RUMBLE STRIPS, TRANSVERSE	LF	346.50	\$15.00	\$5,197.50	\$10.00	\$3,465.00	\$1,732.50
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	102.00	\$99.73	\$10,172.46	\$105.00	\$10,710.00	(\$537.54)
604.0007	POLYETHYLENE LINER	EA	44.00	\$122.62	\$5,395.28	\$230.00	\$10,120.00	(\$4,724.72)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	44.00	\$367.95	\$16,189.80	\$625.00	\$27,500.00	(\$11,310.20)
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	59.00	\$3,334.37	\$196,727.83	\$3,200.00	\$188,800.00	\$7,927.83
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	7.00	\$2,842.08	\$19,894.56	\$1,400.00	\$9,800.00	\$10,094.56
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	6,375.00	\$22.33	\$142,353.75	\$24.00	\$153,000.00	(\$10,646.25)
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	5,133.50	\$6.85	\$35,164.48	\$10.00	\$51,335.00	(\$16,170.52)
608.1201	2" BITUMINOUS SIDEWALK	SY	5.30	\$283.00	\$1,499.90	\$125.00	\$662.50	\$837.40
608.2401	4" CONCRETE SIDEWALK	SY	39.10	\$101.50	\$3,968.65	\$82.00	\$3,206.20	\$762.45
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	6.55	\$507.51	\$3,324.19	\$425.00	\$2,783.75	\$540.44



42716

				A-Bide	der	PS8	ξE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
609.5	RESET GRANITE CURB	LF	77.00	\$101.50	\$7,815.50	\$36.00	\$2,772.00	\$5,043.50
615.0201	TRAFFIC SIGN TYPE B	SF	142.33	\$71.05	\$10,112.55	\$72.00	\$10,247.76	(\$135.21)
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	117.91	\$167.48	\$19,747.57	\$149.00	\$17,568.59	\$2,178.98
615.023	REMOVING TRAFFIC SIGN TYPE B	U	4.00	\$126.88	\$507.52	\$165.00	\$660.00	(\$152.48)
615.0301	TRAFFIC SIGN TYPE C	SF	173.75	\$45.17	\$7,848.29	\$48.00	\$8,340.00	(\$491.71)
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	20.00	\$35.53	\$710.60	\$44.00	\$880.00	(\$169.40)
615.0601	TRAFFIC SIGN TYPE CC	SF	96.44	\$12.69	\$1,223.82	\$17.00	\$1,639.48	(\$415.66)
615.063	REMOVING TRAFFIC SIGN TYPE CC	U	1.00	\$15.23	\$15.23	\$36.00	\$36.00	(\$20.77)
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	6.00	\$974.43	\$5,846.58	\$1,100.00	\$6,600.00	(\$753.42)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	44,000.00	\$1.00	\$44,000.00	\$1.00	\$44,000.00	\$0.00
618.7	FLAGGERS	HR	2,540.00	\$40.00	\$101,600.00	\$31.50	\$80,010.00	\$21,590.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$95,000.00	\$95,000.00	\$150,000.00	\$150,000.00	(\$55,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,000.00	\$6,000.00	\$2,600.00	\$5,200.00	\$800.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	221.00	\$5.08	\$1,122.68	\$6.50	\$1,436.50	(\$313.82)
621.31	SINGLE DELINEATOR WITH POST	EA	1,677.00	\$48.72	\$81,703.44	\$35.50	\$59,533.50	\$22,169.94
628.1	SAWED CONCRETE PAVEMENT	LF	34.00	\$15.23	\$517.82	\$9.00	\$306.00	\$211.82
628.2	SAWED BITUMINOUS PAVEMENT	LF	155.00	\$10.15	\$1,573.25	\$2.50	\$387.50	\$1,185.75



42716

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	300,355.00	\$0.15	\$45,053.25	\$0.22	\$66,078.10	(\$21,024.85)
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	2,997.00	\$1.22	\$3,656.34	\$1.25	\$3,746.25	(\$89.91)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	199.00	\$5.25	\$1,044.75	\$6.50	\$1,293.50	(\$248.75)
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	2,997.00	\$1.02	\$3,056.94	\$1.25	\$3,746.25	(\$689.31)
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	159.00	\$2.03	\$322.77	\$3.00	\$477.00	(\$154.23)
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	78.00	\$4.06	\$316.68	\$4.45	\$347.10	(\$30.42)
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	199.00	\$6.09	\$1,211.91	\$6.25	\$1,243.75	(\$31.84)
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	75.00	\$8.12	\$609.00	\$7.50	\$562.50	\$46.50
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	1,441.30	\$8.12	\$11,703.36	\$10.00	\$14,413.00	(\$2,709.64)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,985.00	\$0.51	\$1,012.35	\$1.25	\$2,481.25	(\$1,468.90)
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	199.00	\$3.05	\$606.95	\$2.50	\$497.50	\$109.45
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	1,441.30	\$2.03	\$2,925.84	\$3.00	\$4,323.90	(\$1,398.06)
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	16,292.00	\$2.59	\$42,196.28	\$3.00	\$48,876.00	(\$6,679.72)
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	16,292.00	\$2.00	\$32,584.00	\$3.00	\$48,876.00	(\$16,292.00)



42716

X-A004(996)

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
692.	MOBILIZATION	U	1.00	\$95,000.00	\$95,000.00	\$160,000.00	\$160,000.00	(\$65,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	34,502.00	\$1.00	\$34,502.00	\$1.00	\$34,502.00	\$0.00

Total:

\$3,212,635.22

\$3,441,717.47 (\$229,082.25)